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Iff(x) = cos x, then— ’f M) = - S\QYL

¥ (x) is strictlydecreasing in 0 s
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The volume Vand dept fwater in a Vessel /\5 % \5\ \(

are connected by the relation V 5x — S

and the volume of water 1s mcreasmg
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Aladder 1s resting with the wall at an angle ”; i = > .St
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of 30°. A man 1s ascending the ladder at the &)@\/g
rate of 3 ft/sec.)f approachmg 5
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What is the interval in which the function (- - \"3
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(a) 0<x<3 WOJ =
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The maximum value of the function
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A stone 1s dropped into a quiet lake and
waves moves in circles at the speed 0£5O
ciy/s. If at a instant, the radius of the
circular wave 1s 8 cm, then the rate at
which(enclosed area 1s increasing, is

(a) 20 mem?/s (b) 40 mem?/s

(c) 60 mem?/s M\/%O mem?/s
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The radius of a cylinder 1s increasing at 2 S d h+' )\ Q. 4

the rate of 3 m/s and 1t@s 9 4.6 71
decreasing at the rate of 4 m/s. The rate — '\, 6 N

of change of ﬁolum@when radus s 4 m ana\\ = i Vv = E) . (-'\1 ) -|>6 X
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f sum of two numbers 1s '% the maxunum
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of second 1s
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